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chain A: glucokinase isoform 2

File Edit Structure Headers Numberings Tree Info Preferences

1v4s (#0) chain A 11 MA L

1v4s (#0) chain A 61[Y VR

o

1v4s (#0) chain A311 DE

1v4s (#0) chain A461 CMLGQ

TLVEQILAEFQLQEEDLKKVMRRMQKEMDRGLRILETHEEASVKMLPT|
STPEGSEVGDFLSLDLGGTINFRVMLVKV/GEGEEGQWSVKTKHQMY §/I
1vd4s (#0) chain A111 PEDAMTGTAEMLFDY I SECISDFLDKHQMKHKKLIPLGFTF|SFPVRHED|I D
1v4s (#0) chain A 161 [KG | L|LNWTKGFKASGAEGNNVVGLLRDA | KRRGDFEMDVVAMVINDTVATM
1v4s (#0) chain A211 (I SCYYEDHQCEVGMI VIGTGCNACYMEEMQNVELVEGDEGRMCVNTEWGAF
1vas (#0) chain A261 GDSGELDEFLLEYDRLVDES/|SANPGQQLYEKL IGGKYMGELVRLVLLRLYV|
NLLFHGEASEQLRTRGAFIETRFVSQVESDTGDRKQIYNILSTLGLRPS
1v4s (#0) chain A361 TTDCD | VRRACESVSTRAAHMCSAGLAGV INRMRESRSEDVMRITVGVDG
1vAs (#0) chain A411 SVYKLHP/SFKERFHASVRRLTPS[CEITF | E[SEEGSGRGAALVSAVACKKA

1v4s (#0) chain A (455 non-gap residues)
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Beta Sheet





Alpha helix





Not a secondary structure and represented as simple connector, how to model this part





In the build structure option, we select parallel beta sheet and anti-parallel beta sheet but how do we know that the beta sheet represented is parallel or anti-parallel do the arrow heads represent the directionality?


How to get the arrows for the directionality of beta sheets using the build structure command, I’m entering the sequence of amino acids?





How to model these sequences that are neither alpha helix nor beta sheets? 








